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Topic:- General Knowledge and Logical Knowledge

1) Who is the Union Minister for Railways? / iﬂ% *® H’q At ﬁq %.?
1. Suresh Prabhu / W Uy

2. Chaudhary Birender Singh / e = g

3. Thaawar Chand Gehlot / YTeR T Tgelid

4. Piyush Goyal / tﬁq& ad

Correct Answer :-

 Suresh Prabhu / W vy

2) Who is the chairman of the Atomic Energy Commission? / WT"{IGWIT S{TART T 3regel ﬁﬁ?%"
1. Madhavan Nair / HTYd- IR

2. UR Rao /g ARG

3. Sekhar Basu / QR o

4. A S Kiran Kumar/UQ'\qﬁT{UTW

Correct Answer :-

« Sekhar Basu / RRGR 5t

3) Today is Sunday. After 1344 days it will be: / 3(TST TR &1 1344 &=\ & a1 98 A Bhm:
1. Tuesday / HITCTAR

2. Monday / IR

3. Saturday / AR

()



4. Sunday / Jfaar

Correct Answer :-

« Sunday /XfddR

4) Which Schedule of the Constitution lists the languages recognized by it? / FfatT= @1 foa Hﬂ'\‘ﬁﬁ )

TS FRTARI HIWTE GHaH 82
1. Sixth Schedule / BT ST

2. Seventh Schedule / FTddl ST
3. Ninth Schedule / dl 3L

4, Eighth Schedule / 3{T&dT 3T

Correct Answer :-

« Eighth Schedule / 3{T&dT 3!

5) The present defence minister of India is ./ YRd & qaq= YEIT HA %:I
1, Manohar Parrikkar / ﬁ%? URfAR
2. Arun Jaitley / 3BT SIea

3. Ananth Kumar / 3/d $HR
4. Nitin Gadkari / FfdH Ted

Correct Answer :-
o Arun Jaitley / 3{9TU] Stedt

6) The present head coach of Men's Indian Cricket Team is ./ W Dt YR fohdbe A&
A g1 B gl

1. Sourav Ganguly / @T”Tﬂ'ﬂfﬁ
2. Rahul Dravid / g &[S

3. Ravi Shastri / fd QIR

4. Anil Kumble / 3{fcT W

Correct Answer :-

« Ravi Shastri / Ifd Qe

©)



7) Villages from which of the following districts have been included in the Climate Smart Village

Project? / F=T & & frar 1@t & ial 1 ‘aremrg e wrd fadst vivtee o =nfdra fosar wan @2
1. Singraulli / RFRIE

2. Umaria / SHRAT

3. Sehore / HER

4. Ashok Nagar / 3B TR

Correct Answer :-

e Sehore / Fﬂ@?

8) If one writes 'twenty four thousand nine hundred and twenty eight' in a reverse form which number

would be in the hundreds place? /tri%aﬁ's‘ax% ‘iﬁ@'\qmﬁ'\‘ﬁW’ P I A | feraar @
W HPs F RIM W P A G& gRi?

1. EIGHT
2. FOUR
3. NINE

4. TWO

Correct Answer :-

e NINE

9) Kheoni (khivni) sanctuary is located in the district ./ @Y @HT-ﬂ) SHIRUY fora &
fRa g

1. Morena/{:ﬁ:ﬂ
2. Dewas/m
3. Rewa / J1dl

4, Ratlam / 3ddH

Correct Answer :-

e Dewas /éa'm

10) Who among the following propagated ‘Advaita Philosophy’? / fada o ‘3@?‘[ A= BT
7o foar?

1. Madhavacharya / ey

(4)



2. Gautam Buddha / T1qd SR

3. Ramanujacharya / JHTISTER
4. Shankaracharya / RIER I

Correct Answer :-

» Shankaracharya / RIEE )

11) Who argued on behalf of India in the Kulbhushan Jadhav case? / PHUUT STUT Ad § YR 3t

3R ¥ foreq o T

1. Harish Salve / 8% ITed

2. Mulkul Rohatgi / Tehd Jgait
3. Arvind Datar / 3Rfdg GAR

4. KK Venugopal / FH a'UJ:"h'EI'IT'l

Correct Answer :-

« Harish Salve / 3T Ted

12) The term ‘Googly’ is associated with / RTeg 'ﬂflal' m ﬂaﬁlﬁ'%
1. Athletics / TUdifeaT

2. Cricket / fhdpe

3. Football / pedld
4, Badminton / és e

Correct Answer :-

e Cricket/ fohdhe

13) Who was the first Indian to become member of British Parliament / fafew e *» o™ g4 91

YT YR i A2
1. D.N.Wacha / S1.G7.am=I
2. Surendranath Banerjee / ﬁ_iﬁ;l o §olf

3. Firozshah Mehta / ThRISIRITG Hgdl
4. Dadabhai Naoroji / & STHTS ARSI

Correct Answer :-

(%)



« Dadabhai Naoroji / GTGTHTS RSN

14) Who was named as the Chief Minister of Punjab following the victory of the Congress party in the

state elections of2017?/2017%m§ﬂ1ﬁﬁmﬁaﬁﬁﬂa$mmﬁm$g@ﬁﬁmm
< foar mar yr

1. Sukhpal Singh Bhullar / §&UTS g YR

2. Captain Amarinder Singh / BT ARG &g
3. Charanjit Kaur Bajwa / IRUTSId CARCIE|]
4. Preneet Kaur / fOFld PR

Correct Answer :-

« Captain Amarinder Singh / BT SHNC Rig

15) Who was appointed the 15™ Attorney General of India on 30™® June, 20172 / 30 Y, 2017 Pl YRd

¥ 159 aretif wva & wu § < Praea e mar
1. Soli Sorabjee / el GRTST
2. Ravi Shankar Prasad / 3(d 2R Y4TG

3. Mukul Rohatgi / Hpd g
4. KK Venugopal / av%évﬁmra

Correct Answer :-

» KK Venugopal / G avjlﬂma

16) B is twice as old as A but twice younger than F. C is half the age of A but twice the age of D. Who is
the oldest? / B 1 3T A 1 3TY A SR 8 Afh F F Mg A G FH | C DI 3T A BT 3G A
et @ AfPp p F g | SR B 1 T wTeT Y fHaet 82

1.C
2. A
3.D

4.F

Correct Answer :-

e F



17) The Preamble of Constitution of India envisages a / HIR<l & Afae™ o uara=T d s9D1
IRGET TS §

1. secular democracy / YHfFRUE ST
2. theocratic state / & SMTETRA

3. sovereign, democratic, secular and socialist republic / UHT‘IT—W, TYFIHW, ‘iﬂffﬁﬁ&f 3R TSI
UIUGE]

4. Monarchy / JTSTcH

Correct Answer :-

« sovereign, democratic, secular and socialist republic /W;,IT‘IT—W, W, HFRUE 3R THTSIATEY

18) The President Rule is imposed in a State when / f&& ITe4 | ?Tgclﬁf M dd ﬁ'ﬁlﬁﬂﬂ IGH %,
Sdq

1. there is police ﬁring/‘fﬂ%‘mﬁ 3R T MR Egﬁ

2. there is breakdown of Constitutional machinery / ﬁaﬂlﬁd> GERRLEN E:Pf T ﬁ

3. the governor becomes disloyal to the centre / ISIYTET &g & ufd FAsTEH a1 \_rlT\EI{
4, the Chief minister misbehaves / T8 Hail TTeld CRIEE

Correct Answer :-

» there is breakdown of Constitutional machinery / ﬂaﬂm RERLL N Epf a1 Epf

19) The standard meridian of India passes through / HRd T HIH® HATE Tgi T gIor SRdT %
1. Ujjain / IS
2. Singrauli / RITRIcH

3. Durg /@TT
4. Bhopal / T

Correct Answer :-

» Singrauli/ RITRYeH

20) Cherrapunji, famous for receiving the highest annual rainfall in India is located in which state? /

YR ® waiiie arfffe auf e = & forg uRie SRgeh, e wsa o fRua 82
1. Tripura/ﬁw
7 (7)



2. Mizoram / ﬁITrﬁTq
3. Sikkim / FifapH
4. Meghalaya / =) D

Correct Answer :-

» Meghalaya / =

21) “Sharad Joshi Award” is given in which of these fields? / “RRE SR YIEPR’ Faddfeaead
YT o §iTaT 82

1. Essays, Memoirs, Satire Writing / ﬁa"%r, HERL, T TRa
2. Poetry / bl

3. Classical Music / [el1g ITiid

4. Visual Art / [ag]3rel 311C

Correct Answer :-

» Essays, Memoirs, Satire Writing / ﬁﬁ"ﬂ, {-RJ-RUI, T ARG

22) Eklavaya Award is given to / Uheod YRSHTR ford faam smar 82
1. Junior players /ﬁﬁlﬂ? RATS]

2. Trainers / UfRI&®

3. Senior players / iR f@?ﬂgT

4, Coaches / W

Correct Answer :-

 Junior players / T{[ﬁl’ﬂ? @@I@f

23) Ratapani dam is located in_. / AT FiY A fRya gl
1. Morena District / Jfﬁ_'ﬂ foret

2. Dhar District / YR foTel

3. Raisen District / TG foel

4, Ratlam District / IqQTH foral

Correct Answer :-

(8)



« Raisen District / TG fora

24) In throwing of two dice, what is the probability of getting a total less than 4? / Sl il ot Uh 1Y

PHH R, T 6% 4 Q HH 311 &1 fra-il wikwar g2

>
Wi | =

Correct Answer :-

25) Find the odd one out: /Wﬁ'ﬂm ATd W:
1. 99

2. 126

3. 109

4.45

Correct Answer :-

« 109

26) Complete the series choosing the missing number: / T BT TAP YT DI TRT DIToTT:
2,59,19,37, _

1. 74

2.76

3.73

4.75
©)



Correct Answer :-

e 75

27) Complete the series choosing the missing number: / T BT TAP YT DI GRT DIToIT:
4, 10, , 82, 244

1.24

2.37

3.28

4. 30

Correct Answer :-

» 28

28) Complete the series choosing the missing number: / & BT TABI EAT DI GRT HIToTT:
2,3,8,63,

1. 3008

2. 3968

3. 1998

4. 1038

Correct Answer :-

» 3968

29) Select the option that is true about the Statements and Conclusions given:
Statements:

Some tables are fables

All fables are cables

Conclusions:

I. All tables are cables

I1. Some tables are cables

| 39 faoeu &1 9u= P Sife 3w e ST i eyt & I) & 981 8:
DY:
PO ¢ad had &
Tt hae paa &
e
(10)



I. 9 dea Haa &
IL. $ ¢qd $ad ¢

1. both conclusion I and II follows / ﬁ'@)_lsfl Gﬁ"{ II aﬁ ST Wﬁ %

2. only conclusion I follows / Had feny 1 &WW%

3. only conclusion II follows / &Had FpY 11 IR hdT %

4. neither conclusion I nor conclusion II follows / 71 &1 fTer 1 3R =1 8t fAspef 11 S{TIR0T FRA G

Correct Answer :-

« only conclusion II follows / &Had FspY 11 STTARUT HT g
30) Find the odd one out: / T& fqUH JId HIoE:

1. windshields

2. car

3. wheels

4, bonnet

Correct Answer :-

e car

31) If BANGALORE is coded YZMTZOLIV, then how is KOLKATA coded? / af¢ BANGALORE &1
YZMTZOLIV 3 FIfSd frar SrdT €, df KOLKATA &1 3 SIied forar smaem?

1. PLOPYGY
2. PLOPZGZ
3. PLOPZDZ

4. QLOPZGZ
Correct Answer :-
e PLOPZGZ

32) The series given below contains a sequence of numbers. Identify the incorrect

combination: / < & ¥ s@a ¥, TS HT TS HH IUTRG € | T AT UgAIT:
1,3, 7, 15, 31, 62

1.31

(11)



2.7
3. 15

4.62

Correct Answer :-
o 62

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / A & ¥ s@a ¥, TS HT TS HH IUMRE € | T Ao UgIg:
216, 345, 512, 729, 1000

1. 1000

2. 345

3.216

4.512

Correct Answer :-
e 345

34) If KIRANis coded LISBO, then how is SRIKANT coded? / Tfe KIRAN®Y LISBOW HIfsd
a1 SITaT 8, 9 SRIKANT Y 9 Sifed forar SRm?

1. TQJLBOU
2. TSILBMU
3. TSILBOV

4. ISJLBOU

Correct Answer :-
o TSJLBOU

35) If PRINCIPALITY coded INPRPACITYLI, then how is COMPUTATIONS coded? ? / Tfe
PRINCIPALITY & INPRPACITYLIS $Ifed f5ar SIdr €, @ COMPUTATIONS & &9 ®ifsd forar
SRR

1. MPOCATUTNSIO
2. MPCOATTUNSIO

3. MPCOATUTNSOI
(12)



4. MPCOATUTNSIO

Correct Answer :-

» MPCOATUTNSIO

36) Select the option that is true about the Statements and Conclusions given:
Statements:

All coins are pens

Some books are pens

Conclusions:

1. Some coins are books

II. Some books are coins

/ 39 fareu 31 Tg1 FIoE Sife 2T T Fu=T iR Fepuf P aR A T 8 :
DYA:
I R 19 &

PO D U9 8
frepd:

1. 39 R g g -

1L P &I Riad §

1. both conclusion I and II follows / ﬁ'ﬁb_ﬁfl 3ﬁ? I a:ﬁ SR HId %
2. only conclusion I follows / Had ﬁ'@b_ﬁh STTIRU] hT %

3. only conclusion II follows / Had ﬁ'@lﬂf IT S{TIRUT hRdT %

4. neither conclusion I nor conclusion 11 follows / 71 &1 fsrt 1 3R 71 €t sl 11 S{FERUT A G

Correct Answer :-

e neither conclusion I nor conclusion II follows / < Eﬁ ﬁ'@lﬂh GhT El é’r W I SERT I %

37) Select the option that is true about the Statements and Conclusions given:
Statements:

Some wagons are cars

All mopeds are wagons

Conclusions:

1. Some mopeds are cars

II. All wagons are mopeds

/ 39 fared &1 Ta1 I Sife T e Hy=i iR Fepuf FaR A T 8 :
DY:

PO THAPR &

I As = €

ﬁWﬁf:

(13)



. O UIUS BR &
LI FTE AN §

1. both conclusion I and II follows / ﬁr&mh \”h?' II a:h S{FIRTT Wﬁ %

2. only conclusion I follows / Had fery 1 GENTUTWT%

3. only conclusion II follows / FHad P 11 IR HdT %

4. neither conclusion I nor conclusion IT follows / 7 &1 fTsr 1 3R 71 8t fAspef 11 ST FRA G

Correct Answer :-

« neither conclusion I nor conclusion II follows / 9 &I ey 1 3R 7 Bl et 11 S{FERUT B %

38) Select the option that is true about the Statements and Conclusions given:
Statements:

No child is a monster

All children are surgeons

Conclusions:

1. Some surgeons are not monsters

I1. Some surgeons are children

/ 39 fapeq &1 Ig FIHoTE SifP 3T T Hy=l iR Fepul IR A T & -
DY

BIS THATNAH TS &

It 5 ol &

free

L. O ol A& T &
LS o g §

1. both conclusion T and I follows / fFept 1 3R 11 gAY ST A S

2. only conclusion I follows / $dd fsp 1 ST HIT g

3. only conclusion II follows / Had sy 11 IR0 HAT ?

4, neither conclusion I nor conclusion II follows / 9 81 ey 1 3R 7 Bl e 11 S{FERT B %

Correct Answer :-

e both conclusion I and II follows / ﬁ’lﬁﬂfl n’rﬁT 11 ﬁ SO I %

39) In a certain code language, iks pir rit means fine march night, het its pir means every
summer night, iks ptr mos means fine for parking. Which is the word for march in that code
language? /Udh W™ IS UTHT ﬁ, iks pir rit 1 3 fine march night; het its pir®1 3 every
summer night 41 iks ptr mos &1 3 ¥ fine for parking'eﬁ'dT % 189 BIS HIYT | march® ﬁTE foa
TS BT SXAATS fpaT 7T 82

1. tks
(14)



2. mos
3. rit
4, pir

Correct Answer :-
o rit

40) In a certain code language, bart il arn means thrills and frills, hed mik ain means
diamonds are forever;, ad ket hed means hard as diamonds, lim arn kelt means rock music
thrills, ket kelt lim means hard rock music. Which is the word for mikin that code language?
JALC 2R CIES | IS UTHT ﬁ, bart il arn &1 AY thrills and frills; hed mik ain &1 31 A diamonds are

forever, ad ket hed T 3l f hard as diamonds, lim arn kelt &1 31 & rock music thrills G471 ket
kelt lim BT IS hard rock music BT &1 59 IS HINT H mik P fore ford wsg &1 swawTa far man
2

1. music
2. diamonds
3. are or forever

4. hard

Correct Answer :-
* are or forever

Topic:- Mental Ability and Mental Aptitude

1)
If the following two squares shown below overlap, which one of the following options
is formed? / @t @F ) oo #fdcafta g & @ B & & ol @ v Twed aa0T &7
Rl
L L
1.

(15)



Correct Answer :-

2)

6 ! 5 7 I ¥ P el - o
Which of the following is between Ecmai' —7 7 e e = % a9 7 AFaeEd 7 T &id 87

15

GH
L 143
31
5. a5
63
136
3.
a8
104
4,

Correct Answer :-

(16)



136
3) 5 - 5 h—
If = =Zthen te value of b ajls. Jam 222 ar & a} & AT &
(5+a) h 6 (6+a)
2
11
1.
1
11
2.
3. 5.5
4 0

4) In the sequence shown below, which figure comes next? / A= 23 99 &a &, 3R

HTIcT Biel T HEI?
L Jole eCe eCe® L Jol |
olele olele) 00 o o]
QOC OO0 alele eL00
1 48 113
L 28]
O8O0
L Jol
1.
L 1oL _
o080
O0DO0O
2.

(17)



.l . A
L T8 |
Y X ]

L_J

i

1'(::&
o0@
¥ 0

S, =

i i
et
lr'_"‘.

e

Correct Answer :-

L 2ol

O8O

0@
5)

In the sequence shown below, which figure comes nexi? / A e T8 & H, T

(18)



Correct Answer :-

in ascending order of magnitude. el

i».;-|l
e} ]

2 3
and

6) 2
Arrange the fractions — , '
15 10

@ GIATIT o HARIGN B H cadiedd &

5
21
25 3
__J‘TJ‘_
L 15721 10
5 3 2
2171015
2.
23 5
13710721
3.
i 5 2
, 1072115

Correct Answer :-

25 3
15T " 10
(19)
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7) The product of ages of Mohanlal and Sohanlal is 99. If the difference of their ages is 2 then find the

age of the elder among the two. / AIG-TATE 3NR TEHEATH B 3T BT UHGE 99 & | TG STHT Mg BT
AR 2 AT H A 98 B 3 719 B

1.12
2. 10
3. 11

4.9

Correct Answer :-

8) Out of 4000 workers employed by an ancient king to build his monument, 3600 carried the stones
from the quarry, while 608 helped in carrying the stones as well as in mounting them. How many helped

in mounting the stones alone? /WWWWWWWWW%%W%OO
FHATRAT H A 3600 WS F TRT B AT A TGP 608 TR} B & T H 3R 1Y g 39 U= H
AT HYd 41 394 A fhaa erba URRT & WU H JeHar Hd A2

1. 600
2. 400

3. 300
4. None of the above / IWRiad § I PIs el

Correct Answer :-

* 400

9) At simple interest a sum of money is doubled in 20 years. What is the rate of interest? / HTHYIRUT TSl

TR 20 AT B TP GRIAT IR ST 81 TS 8 | ST Bt g3 T 82
1. 10
2.20
3.5

4.25

Correct Answer :-

(20)



The age of Preeti and Vimal are in the ratio of 3 : 5. After 9 years, the ratio of their ages will become 3 : 4.
The present age of Vimal is: / WHife 3 faue #t SY3:5 & Glﬁmﬁﬁ'%l 9 g9 UYTd, STb! 31 BT
IIUTA 3 : 4 T I1aT 8| fva o1 g Su §:

1.15 years/lSG'Gf
2. 9years/9a'5f
3. 18years/18_0|'5f

4. 24 years [ 24 Gl

Correct Answer :-
e 15years/ 15 GL

11) If three fifth of a number is 155 more than two fifth of the same number, then the
number will be / If¢ TH TWI &1 3/5, I JWAT & 2/5 A 155 WIGT 81 99 I8 T=AT gHIL:

1. 925
2.775
3. 885

4. 955

Correct Answer :-

e 775

12) Find the difference between the compound interest and simple interest on Rs. 30,625

invested at 4% p.a. for 2 years. / 2 96l & T 4% ufdad W ARG 30,625 T & Twgfs
ToT 3R IR TS & S 3R J1d B |

1. Rs. 50 / 50 U
2. Rs. 49 / 49 STY
3. Rs. 125/ 125 W

4. Rs. 99 /99 ¥TY

Correct Answer :-

« Rs.49/49 304

13) Two friends, A and B start from places X and Y, respectively which are at a distance of
390 km. Find the time taken by them to cross each other, if they are traveling in opposite
directions at a speed of 5 kmph and 8 kmph, respectively. / S A 3R B, PHRI: TN X iR

(21)



Y & YR Hd ¢ ol & 390 5t & gt wr €1 afe 3 wa=m: 5 fasdt ufa der oiik 8 fadt wfy et ot
aTa o faudta fezmait & arn &% 3@ § 9 Th-gIR @1 UR S W 3910 g1 o) TR v Y 7 B

1.10 hrs / 10 ©¢
2. 40 hrs / 40 ©¢
3.30 hrs / 30 ©¢
4.20 hrs / 20 ©¢

Correct Answer :-

« 30 hrs /30 ©¢

14) If 'x' is 80% of y, what percentage of 'x' is 'y'? / Gf¢ y &1 80 Ufa=d 'x’ 8, ot “x’ &1 fa=n
wfa=ra 'y’ 82

1. 130%
2. 120%
3. 128%

4. 125%

Correct Answer :-

e 125%

15) If A's income is 20 % less than B's income, find out by how much percent B's income is

more than A's income? /ﬂﬁAHﬁGlTH,BHﬂGITUQ 2ouﬁmm%?ﬁwaﬁﬁ?sa&m,Aaﬁ
3 & fa= uferra siftre 82

1. 20%
2.25%
3.35%

4. 30%

Correct Answer :-

16) A and B can do a piece of work in 15 days. A and C can do it in 10 days, and B and C can
do it in 12 days. How many days would all of them together take for the task to be

completed? / A 3R B T% &1 3t 15 fo & [RT &% IFd &, A 3k € 3 10 fef o 1 % g&vd §,
T4 B 3R C 3 12 a7 & [T % G &1 3 Tt Thary &1 Y @1 FeA & fore fpam fam /e

(22)



1.5days/5ﬁ:f
2.4 days /8 fa
3.8days/8ﬁ:f

4.9 days /9 a1

Correct Answer :-
. 8days/8faA

17) A can do a work in 30 days. He works at it for 20 days and then 'B' finished it in 12 days.
In how many days 'B' alone can complete the work? / A <t wrd w1 30 fot o &% T&Har %I a
20 &1 & 1T Hrd Fear 8 SR I 91 'B' 39 H1H B 12 fa ¥ Tured = dar 81 fpa= fe o
3PdT 'B' HTI B T HY AT 82

1. 35 days /35 fa
2. 36 days /36 fa=1
3.32 days /32 &

4. 30 days / 30 fa1

Correct Answer :-
e 36days/36 e

18) A class contains 20 boys and 20 girls. The average marks scored by the 20 girls in an
exam is 85 and the average marks scored by the 20 boys of the class in the same exam is 83.
Find the average marks scored by the class in the exam. / <t wamd 20 m 3T 20 ?I'sﬁ?m
A &1 T gdien § 20 dsfeal grT ifSla ofiud sic 85 & ok IHI udian # 20 ds®! gRT sifola
e o 83 § 1 Ullen ® wa gRT Sifdla s siwt &1 3ira ®¥

1. 84
2.80
3.90

4. 86

Correct Answer :-

19) On a square plot of land of sides 14 m, a cow is tethered at one corner by a rope of length
7 m. What is the area of the plot ungrazed? / 14 Hiex YuII3fi & FHR YES W, TH T4 7 Hiex
TS ©1 IR GRT TP S A 9¢f g8 81 A1 =R g Yavs &1 % o1 82

‘ (23)



1. 196 sqm / 196 GHICT
2. 170 sqm / 170 GEiHIER
3. 165.5 sqm / 165.5 GIHIER
4. 157.5 sqm / 157.5 THIER

Correct Answer :-

e 157.5sqm/157.5 IR

20) If the selling price of 20 oranges is same as cost price of 30 oranges, find the gain

percentage. / U 20 TRl &1 Ay You 30 TRl & U You & JA 8, al a1 Ufa=a 1d H3
1. 80 %
2. 60 %
3.50%

4.70 %

Correct Answer :-
e 50%

21) The ratio of father's age to son's age is 3 : 1. The product of their ages is 243. The ratio of
their ages 9 years hence, will be: / fUGT & 3T BT YT BT g A U 3 : 1 3| SAD! 3T BT
TUFEE 242 81 9 a9 UgTd 391 3G BT 3IuTd gI:

1.2:1
2.3:1
3.5:3

4.4:1

Correct Answer :-

22) The ratio of salaries of Sonu and Monu is 3 : 4 and the ratio of their expenditure is 8 : 11.
If the savings of both of them are equal, then the salary and expenditure of Sonu are in

ratio: / WL 3R WL & A= BT 3UTd 3 : 4 & 3R 3P Y HT AU 8 : 11 &1 IfS 1 Ft 5
U gl W+ & aa 3R 9T FT 37T 3:

1.9:11

(24)



2.8:9
3.11:9

4,9:8

Correct Answer :-

23) The ages of two persons differ by 20 years. If 5 years ago, the elder one be 5 times as old

as the younger one, their present ages (in years) are respectively: / gI Safaadi &1 Mg | 20
94 3T 3R 81 9l 5 a9 ugd, 3y H g1 e, oMy § Bie fed A 5 A1 ST AT a1 S7H! adHH AR
(qut ¥) Ha: &

1. 20, 20
2. 30, 10
3.25,15

4.20, 10

Correct Answer :-

24) Sulthan has purchased an item for Rs. 2,000. If he wants to make a profit of 20 % at
what price must he sell the item? / & + 2,000 IUY HI TH a5 WIS | Al a 20% BT ATH
T ATedT & df 39 fFT ou R a3g H ST ghI?

1. Rs. 2,400 / 2,400 SUY
2. Rs. 2,100 /2,100 ST
3. Rs. 2,200 / 2,200 30U

4. Rs. 2,300 /2,300 30T

Correct Answer :-

e Rs. 2,400 /2,400 3T

25) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fra ﬁ'a ™

IR Tdl § ¥ = 23 10 vd & St T B9 91 v 81 82

Heinz

(25)



Sudring 25,

Emsdetten, 48282

(i) Heinz
Sudring 25,

EmSdetten, 48282

(ii) Heinz
Sudring 25,

Emsdetten, 48282

(iii) Heinz
Sudring 25,

Emsdetten, 48282

(iv) Heinz
Sudring 25,
Emsdetten, 48282

1. iii

Correct Answer :-

26) Find the average. / 3Na 1|
77,79, 83, 89, 95 & 99
1. 89

2.87

(26)



3. 88

4.91

Correct Answer :-

e 87

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'ﬁ%?ﬁ'rlg mﬁ, 3I&RY GﬁT\q@TGﬁWWWﬁ%ﬂ%I W'\‘Rﬁﬁqm
i.hwoi3016wioh

ii.hwoi3016wioh

iii.hwoi8016wioh

iv.hwoi3016wioh

1. il

28) Asha and Nisha are two sisters who intend to meet their aunt who is 25 km away. Asha
leaves home at 9 am and walks at a speed of 4 km per hour while Nisha leaves at 11.30 am
on a bicycle at a speed of 9 kmph. When does Nisha meet Asha? / SR 3R fA=m &t CLEl %'Trﬁ
SOt Aift | e &1 gRer wadt € oY f 25 et gr &1 o= ure: 9 99 W} & et @ 8iR 4 feh
afd HeT &1 °ara @ Tedl 8 Safe FRm ue: 11.30 R 9 FAead 8 iR 9 fadt ufa ver #t ara @
Irsfrd R IR g1 f=m, enmen § o9 fiasie

1. 2.30 p.m.
2.1 pm.
3. 12.00 noon

4.1.30 p.m.

Correct Answer :-



A person travels equal distance with speeds of 4 kmph, 5 kmph, and 6 kmph and takes a total
time of 74 min. The total distance in kilo meter is: / T afa 4 feH ufa g2, 5 fH ufa g ok
6 Tt ufq 4 &t 7ra A TUE gt &) I FHRa @ iR 74 ieTe &1 oa 9ug aar 31 fral fiex § g

e
1. 10 km / 10 foH

2.12 km/ 12 f&Ht
3. 8 km / 8 T AT
4. 6 km /6 fopHI

Correct Answer :-

e 6km/6TpHl

30) A man was asked to multiply a certain number by 53. He multiplied it by 35 and got his
answer less than the correct one by 1206. What was the number to be multiplied? / U® ¥4
¥ foreft ¥ TS 1 53 A UH F3 B HT T ITH 35 F U fHa1 iR ot S<R ured goim al
TET TR A 1206 HH AT| O B Dt G&T A7 A2

1. 67
2. 87
3.37

4. 107

Correct Answer :-

e 67

Topic:- Science and Simple Arithmetic

1)
Line segments AB and CD intersect at O such that AC || DB. If 2/CAB =40° and »CDB = 60°,
then 2BOD = ./ Targre AB 3T CD g O o &0 tiF Yitewigd i & i AC ||
DB. 9 £CAB =40° 3K 2CDB =60°, @ zBOD =

1.40°

2.80°

3.60°

(28)



o

4.70

Correct Answer :-

o

« 80

2)
A washing machine was purchased 3 vears ago for Es. 19440 Its value depreciates at 16 % % per
annum. Its value after 1 year will be: / U aIRieT #9003 99 J5ef 19440 T90 H @S 715 o)
e e 3 gAY 162 % o1 61 @ §) A 1 99 @G Few o gen?

1.Rs. 7812 /7812 39

2. Rs. 10375 /10375 30

3. Rs. 9375 /9375 300

4. Rs. 8995 /8995 3UY

Correct Answer :-

« Rs.9375/9375 30

) What is the value of +/0.0016 7 / +/0.0016 =T H F4T

JELN
1. 0.04
2.0.4
3. 0.0004

4. 0.004

Correct Answer :-

« 0.04

4)
In a parallelogram ABCD AF |l BCand CE 1 AB. If AF =8 cm and AB =12 cm, then CE=
. { FAT T ABCD #, AF L BCAHRCE L AB §| 975 AF=8 ¥4It AB=12
THL @ CE =

(29)



1.8 cm/ 8 IH!
2.Zcm/2@7ﬂ
3.4cm/4@1—-ﬁ

4,16 cm / 16 99t

Correct Answer :-

. 4cm/4®"-:ﬁ

5)

Find the number of bricks each measuring 24 cm %12 cm X8 cm required to construct a wall 24 m
long, 8 m high and 60 cm thick, if 10% of the wall is filled with mortar. / 24 #r. o€, & #1. F=T

TR 60 TEr. AT O & AT & BT 24 T 12 TE xS TEL AT aren €21 T Hear Ay
thriete, gy A @ 10% #er iy § 51 S B

1. 4950

2.4500

3. 450000

4. 45000

Correct Answer :-

« 45000

6) A man bought a horse and a carriage for Rs. 3000. He sold the horse at a gain of 20% and the
carriage at a loss of 10%, thereby gaining 2% on the whole. The cost price of the carriage is: /

TS Afod = Th ST TUT TP AT 3000 T H TRIGT ST IS B 20% ATH TR TAT AT B 10% I
TR 39 34T, 39 TR 91 T 2% ATH U fham| 9 &1 arTd g e 8:

1. Rs. 1200/ 1200 3G
2. Rs. 1300/ 1300 398
3. Rs. 1800/ 1800 34T

4. Rs. 1700 /1700 T4

Correct Answer :-

« Rs. 1800 /1800 3Ud



7) If PQRS is a parallelogram with PR = QS, then PQRS is a ./ 9f¢ PQRS TH JHIGR
Ig § Rr®T Yol PR = QS, @ PQRS =1 :

1. thombus /ﬂﬂﬂﬂﬂﬁ
2. square / i

3. rectangle / 3TId
4. none of the above / SUad § A ﬁé ol

Correct Answer :-

« rectangle / 3TId

8) Two cats A and B together catch 60 mice. If A catches three mice for every two caught by B,
the number of mice caught by B is: / &) fafedl A 3fR B A Redr 60 T uwe 1 afe A 7 B gRIUSHS

T YA & e & e i 78 v, A B g1 USS T 9§l 3w e 3
1. 20
2. 26
3.24

4. 30

Correct Answer :-

. 24

9) Ifa=b2%, b =c2 and ¢ = a%Z, then the value of xyz is: /Tf¢ a = b2, b = ¢ 3R ¢ = a2%, A xyz
ST A 75 gh:

MR e

[~

= | H

4,

Correct Answer :-
(31)



m|=

10) If the number of boys and girls in a class are 45% and 55%, respectively and is represented
in a pie chart, what will be the central angles of portion representing boys and girls? /af¢ T

P& H ATH] qUT TS IHY] B} T BT U= PHI: 45% TUT 55% &, 3R 34 U 91 § e fpan
T ¢, T TSDI 9UT ASTHAT B YR B FFARTUT B a1 U & B1g DHI0T T §il?

1.172°, 188"

2.170°,190°

3.150°,210°

4.162°, 198
Correct Answer :-

. 162°,198"

11) The product of (x —y) and (y —x) = ./ (X —y) QT (y — X) BT UHEGS =1 gHm:
1. x2 - y2—2xy
2.x%+ y2 —2xy
3.2xy + x% + y2
4, 2xy—x2 —y2

Correct Answer :-

12) If 52 men can do a piece of work in 35 days, in how many days will 28 men do the same

work? / afe foafl o1 &Y 52 3MeHt 35 fe9 A H3 Iwd &, 9 S o1 &Y 28 3meH! fram &= & s
1. 62
2. 68
3. 65

4. 60

Correct Answer :-
(32)



13) What is the quotient obtained when 3y4 - 3y3 - 4y2 —4y is divided by y2 —2y?/ 3y4 - 3y3 -
4y? — 4y BY y2 — 2y A YT A TR FT YRGS T ER1I12

1.3y -3y +2
2.3y -3y -2
3.3y2+3y+2
4. 3y +2

Correct Answer :-

. 3y2+3y+2

14) Which of the following is a rich source of iodine and potassium? / ﬁ"}lﬁ'@ﬁﬁ ﬁaﬁ? GI'ITﬁ?ﬂT'T R
T fRraw &1 R Wi 82

1. Kelp/ G

2. Chlamydomonas / FASHAAY
3. Yeast / THR

4. Spirogyra / W@Tﬂw

Correct Answer :-

« Kelp /Heq

15) Cavities of mouth, blood vessels, heart, etc, are lined with: / & C4| T[%W, G I PIY, ®ad
gafe e & a1y ¥fad fre o &

1. Squamous epithelium / Q! IUbal
2. Columnar epithelium / ¥HTPR FUBAI
3. Cuboidal epithelium / IIh R U Il

4, Connective tissue / w $Hdd

Correct Answer :-

« Squamous epithelium / Teh! JUBIT



16) Out of the four elements given below, which group can gain one electron and complete
its outermost shell?

Flourine, Chlorine, Hydrogen, Helium

/ T T T TR df ¥ A FF AT TG TP FAdE [ BT ATH YIS B bl & adT (U SIEIaH DI
&1 quf & ghar 82

TS, TR, gTEgiem, Siftraw

1. Flourine only / R uﬁsﬁft:r

2. Flourine, chlorine, hydrogen, helium / qﬁ@nﬂ:{, Cfﬂ-\lé.‘l"l, Sl‘é(p‘?l\ﬂ"l, éﬂ%ﬂ’q
3. Flourine, chlorine, hydrogen only / R U@Gﬁﬁ:{, Tﬁhﬁ:[, E’EAS:T\_YFI

4. Flourine, chlorine only / b tﬁa'hﬁ:[, FARM

Correct Answer :-

» Flourine, chlorine, hydrogen only / Rk qﬁ\?rﬁﬂ:[, ?ﬁhﬁ:f, EIQS: SR

17) The network of knotted thread like structures in the nucleus is called ./
TfHeT & TR 9 S} HeEe Peard gl
1. DNA / S‘IQFIQ

2. chromosomes / TJUIRTA

3. chromatids / 37eRTORE
4, chromatin / ShIAfeT

Correct Answer :-

« chromatin / BIHfT

18) Name the organelle that is seen only in plant cells. / Fad Uy HIRAEIST § U S+ a1
PIRIBIT BT 19 FATSTI

1. Mitochondria / m%‘cﬁﬁ%m
2. Centriole / aRé%' [+
3. Plastids / <Idh

4. Lysosome / T DI

Correct Answer :-

o Plastids / Iddh



19) A solution contains 50 g of sugar in 250 g of water. Calculate the mass by mass
percentage of the solution. / T fa@a= & 250 UTH &7a1 § 50 UTH I+ fAfga 21 e & goaw=
ARG | SSHT BT UG He |

1.16.7%
2. 20%
3.25%

4. 18.5%

Correct Answer :-

e 16.7%

20) The pressure exerted by man on earth is minimum when he: / q*«‘ﬂ TR S(TGHT §IRT T
T 19 gAY BT § 9id 9g:

1. Sits with both the legs folded /Eﬁ‘rﬁﬁfraﬁﬁ]@%ém%l
2. Lies down in a sleeping position /:ﬁﬁﬁ@‘lﬁfﬁ@lﬁ?ﬂ%l

3. Stands on both feet / Il TR TR ICIS]| gl %I

4. Stands on one feet / T& U TR WST BIdT B

Correct Answer :-

« Lies down in a sleeping position /:ﬁﬁﬁ@ﬂ%ﬁm%l

21) Units of heredity are: / 3TJdfRI%Hal $t sHIFAT &
1, Nucleus /AT

2. Genes /Gﬁ?

3. Nucleolus / g

4. Chromosomes /URTA

Correct Answer :-
« Genes /SiH

22) Which of the following does not allow the electric current to pass through them? / fafafaad o=

fagaa T yarfed g1 1 srgafa 7t Gar 32
1. Tap water /qu'l:ﬁ

2. Sea water / Wav—[ql:ﬁ
(35)



3. Vinegar / RRe1

4. Distilled water / 3Td SIc]

Correct Answer :-

« Distilled water / 3Td SIcT

23) Which of the following is NOT an example of a bio-mass energy source? BEisE ko aﬁ—ﬂ?ﬁ

S¢Sl BT Wl T8) 82

1. Coal / HITell

2. Nuclear energy / DT Sl
3. Wood / Fﬁb_sg[

4. Gobar-gas / MR T

Correct Answer :-

» Nuclear energy / YD Sl

24) An example of night bird is: / RIECES tl'&ﬁ DT TP 3qlerul % :

1. Owl/ 3
2. Crow /ﬁ&ﬂ

3. Sparrow/"ﬁ%cﬂ
4. Bat/ dHlqS

Correct Answer :-

25) Kilowatt hour is the unit of: / feiaic ger e &t sa?ré %:
1. Electric potential / ﬁ’g{qﬁ fayq

2. Electrical energy / ﬁg&ﬁ ot

3. Electric charge / ﬁgﬂﬁ TR

4. Electric power / ﬁ'c;qa fad

Correct Answer :-

« Electrical energy / fagad Sl



26) The cell organelle that controls all the activities is called ./ DT 3T st g+t wfafafeay &t
fafbaezaig,_ = wsamrgl

1. mitochondria / GAGBI0HT
2. nucleus / AT

3. ribosome/m
4. endoplasmic reticulum / WW

Correct Answer :-

« nucleus / TIY®

27) Why are large poultry farms constructed? / EI% PIpC T @1 FFtor =i forar simar %?

1. There is low maintenance requirement for developing poultry only. ) R P ap Ul CACEYR %%’Qﬁ'ﬂ
GG D SIS G |

2. To develop very good hatchery for egg layers, in large numbers only. / Rrs EI@)[“VT@:IT]?[ 3@%%%@3@?{
3 TP eIl BT [AHT BTl

3. To raise broilers for chicken meat in large numbers only. /W@W%ﬁﬂ Wwﬁaﬁwﬁ
q1e g

4. All the above / SIRIGd IHt

Correct Answer :-

e All the above /mﬂﬂ-ﬁ

28) In which part of the alimentary canal is the food finally digested? / Y07 T & f5T HRT & WIS &1
Sifew U giar 82

1. Large intestine /aéfr 3fid
2. Stomach / 3THIRIY

3. Mouth cavity / H9 1 el
4, Small intestine /m 3{d

Correct Answer :-

e Small intestine / @ﬁﬁ 3{id

29) Two equal circles of radius 'r’ intersect such that each passes through the centre of the other.

The length of the common chord of the circle is: / '’ GG 3-1 A dad Qﬁ uﬁ%ﬁﬂ B % f&
(37)



U% I g I & 5 A 21 ToRA T I P SHFTS sitar 3 dars e gnft:

V21

30) Which of the following statements is INCORRECT? / = o 9 99 91 $YA Tad %?
1. 216 is a perfect cube. / 216 Wqﬁaﬁ%l
2. There is no perfect cube which ends in 4. / 91 %I guf ¥4 el § foraesT sifay ofw 4 711

3. If a divides b, then a3 divides b3. /e b &1 a AU HRAT R, @1 b3 B 23 TFHIRIT HEM

4. 8640 is not a perfect cube. / 8640 W‘{Uf‘a:f:@%l

Correct Answer :-

« There is no perfect cube which ends in 4. / T9T P15 Y01 84 7181 § orgepT 3ifaw 3ier 4 B

(38)



